EroN)’

CAST IRON T-SLOT RAILS No.E-9134

SHATA

ENEFC50 D hnsesr g B R K
EED BT

O KRB =R RIEEMNIRIEIN, BATATFHESE,

O {EMA LY, WREHMELTE,

OREETH ATEE (EXEY) H#HITEE.
OREENE (TRMEE) AMEERE.

OEEEME FHFHTEER, THRERRE,

WEEOH
................... (7.7
RER
................... N O
/ / _
R TEERH : L2 — — —
................... = = = :;' = =
T L] L] [ ] ]
J K K K K J
A
BAREH
i
”””””””””” N. ONEERIFEARTHAREmEL, !

(CEAE ‘ T

................... ‘ =+

i : v
.

TEFERTE

http://www.nabeya.co.jp




L Pkicd
iTEs e A B | C D E F G H I
908533 DK-1000 1000 150 70 130 22 22 16 37 100
927036 DK-2000 2000 © 200 & 120 230 35 32 28 65 180
927037 DK-2500 2500 200 120 230 35 32 28 65 180
927038 DK-3000 3000 =~ 200 @ 120 230 35 32 28 65 180
927039 DK-4000 4000 200 120 230 35 32 28 65 180
ne ) K L M N 0 (%) | BFAEKN/M | Eikg
DK-1000 50 450 20 75 6-011 571 6-M10 X 1.5 70 60
DK-2000 50 475 25 100 | 10-@18%:fl  10-M16X2 200 214
DK-2500 50 480 25 100 12-018$57L  12-M16 %2 200 268
DK-3000 75 475 25 100 @ 14-@18%:F  14-M16X2 200 321
DK-4000 100 475 25 100 18-p18 &7l 18-M16 X 2 200 428
L
TRIGE

HXTER MR RIEFFEERRAETLAR,

BAEVFAH
BIFARARAUTRY, 2 ROHE" EHEREZENE
BREENEZEFANELE,

© GIEEM BWAR

© XEREM: ARXE (KR

AEER THCADHE. HITEFTIA,

5
H
Al

-
<

op




